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Date:

Teacher:

Class:

Addition and Subtraction 507

How do sheep keep their feet warm? They wear wool socks.

Calculate.
L. 3,741 2% 5,952 3 4,473 + 7,682 > 1,878 & 3,933
— 2908 - 888 - 2,446 2,378 825 2,225
£ 9,761 & 4,414 * 6,071 1 6,648 11 2,839 12 9,340
+ 7,820 + 5,752 + 5,549 1,199 3,761 2,175
13. 2455 14 6,360 15> 9,244 16 1590 1" 5,110 18 5,398
— 1506 -4635 - 2,480 605 4,450 5,379
19. 422220 19512 3,026 %2 6,6792 5946 % 6,523
+ 6,360 + 7,166 + 4,199 2,131 1,928 9,602
25. 5104 26 1547 27~ 5754 %8 4793 2 7,159 30 3662
- 1972 - 1,206 - 2,537 2,146 609 2,471
sl. 6,871 3% 1,067 33 6,487 3% 4,216 3 8,950 36 3,603
+ 1522 + 5949 + 2,740 7,408 6,963 2,372
7. 2,870 3 3,447 3 3,278 ‘0. 1,644
- 2,169 - 696 - 790 562
© Facilitators Ferriswheel WS#:A&S507 Score:



Answer Key

Date:

Teacher:

Class:

Addition and Subtraction 507

How do sheep keep their feet warm? They wear wool socks.

Calculate.

L. 3,741 2% 5,952 3 4,473 + 7,682 > 1,878 & 3,933
- 2908 - 888 -—-2446 -2,378 - 825 - 2,225
833 5,064 2,027 5,304 1,053 1,708
£ 9,761 & 4,414 * 6,071 1 6,648 11 2,839 12 9,340
+ 7,820 + 5,752 +5549 + 1,199 + 3,761 + 2,175
17,581 10,166 11,620 7,847 6,600 11,515
13. 2455 14 6,360 15> 9,244 16 1590 1" 5,110 18 5,398
- 1506 -4635 -2480 - 605 —-4450 - 5,379
949 1,725 6,764 985 660 19
19. 422220 19512 3,026 %2 6,6792 5946 % 6,523
+ 6,360 + 7,166 + 4,199 + 2,131 + 1,928 + 9,602
10,582 9,117 7,225 8,810 7,874 16,125
25. 5104 26 1547 27~ 5754 %8 4793 2 7,159 30 3662
- 1972 -1206 -2537 -—-2,146 - 609 - 2471
3,132 341 3,217 2,647 6,550 1,191
sl. 6,871 3% 1,067 33 6,487 3% 4,216 3 8,950 36 3,603
+ 1522 + 5949 + 2,740 + 7,408 + 6,963 + 2,372
8,393 7,016 9,227 11,624 15,913 5,975
7. 2,870 38 3,447 % 3,278 1,644
-2169 - 696 - 790 - 562
701 2,751 2,488 1,082
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